Newington College Year 11 Extension 1 Assessment 1 2004

Question1 10 marks Marks

a)  Factorise i) x° +8 3
ii) 5x% +5x~60 '

ke

1 1
b Simplify and express with a rational denominator - . 3
) P P 2443 A241 ¢
¢) Find in simplest exact form, values of x for which T2 —4x — 7=0. 2
d) Solve for x and graph on a number line: [2x — I>5. 2
Question 2 ]0 Marks Start this Question on a new page.
a)  Sketchtheregion y >+/x—1. 3
x—2 y+4 . . . o
b) Show that —-= + = 0 is the equation of a circle with 3
y X
centre (1,-2) and radius /5.
c) If the graph of y = /(%) is as follows; : 2
e Sketch on separate diagrams i) f ~1 (x)
i) J(=x)
d)  Solveforx: 2x% +5x~3<0 ‘ 2
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Question3 /0 Marks Start this Question on 2 new page. Marks
a) Show that > 2 =1 +-—3—. Hence or otherwise sketch y = x+2 . 3
x-1 1 x-1
b) 1) Sketch y =1logy x 3
ii) State whether it is a function or relation and give reasons.
iii} State the domain.
¢) Solve forx: —*.»1, 4
x-1
Question4 10 Marks Start this Question on a new page. C
‘a) For the function y = X 6
x° -1
i) State the vertical asymptotes,
1i) By considering ! determine
X >3 2 1
any horizontal asymptotes.
1ii} Show that y = is an even function.
x° -1
iv) Find any intercepts.
v) Graph y = 5 showing these features.
x“ -1
T . Ix — 1[
b) Sketch , indicating any asymptotes and intercepts y = 4
X
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End of paper.
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